CASBEELBIZH+HERIEHDRERERITBE

KT ROZERICIRRRERG OBMEEIASL TS,

LERBEFNSEFER

CASBEEILE; 20134FiB##iRVer.2 (BPI/BEI )

B2 E I B EXTEREE I
W1 THERRERIE X SR | DHEHE
1.1 BYoEammins
@Avh) XEREBEEERCEHLTTIESN
ENEE 2|:BauEts 21|=E 40 3|54 Bt
24 0.89 |wri|THRILF— 1|EMORERTME
INEE| 25 0.18
1.2 BARAIRILT—DOFA
(@AAvh) XEBEFEEHRICEHLTIEND 40 050 |[w~|TrLx— ol st —FIm 21| B IALE —DE R E
FRETRITRT BREIZEH A 3.0 050 [w|zxix— 2| sy -mm 22| BRI - DEHFIF
1.3 BERATLOEZNEIE
(@Avh) XEEFRERICEHLGEEN. O 4.0 | 1.00 |LR1|I:?~)|,#‘— 3|E§{ﬁﬁ’/17"ix0)%§jj$1t| | | |
HrEAMEE B OIFTEEL TS
Mt 40 | 016 |
1.4 FBHERATLDOHEMER
(=S XEEEEFEZIZEH LTSN 30 050 |[w~|Trix— a|m=eEm a1|E=myoy
3.0 0.50 |[wri|THRILF— 4|ZhERpER 4.2[SEREEIAH
INET
15 BR-ITUTILRE
(IAUH) KEEEEEZMRICEHLTZSL. O 30 008 |wrl|zm-<7u71 lxamms 1.1] &K
B S S AR KRR, SRR, T, £ L&D RIATREREY 3.0 0.08 |wre|&E-<7U7L | 1|kEEERSE 12| AR HHKBERA | 1|FKHBASRTFLAEADEE
3.0 004 |r|BE-<TFUTIL 1|k&ERRE 1.2| MK FI A - #E K BRI A 2|HKBHIS RT LEADE E
3.0 0.06 |[r|B&E-wFUTIL | 2|kEsEnEEomRELR [2.1|#HEREOHIH
3.0 0.19 |re|&E-=FUTIL | 2|EEraEommELE |2.2| B R RR A% DR
3.0 016 |r|&E-<FUTIIL | 2|EEMEEOERAELIE |2.3[BrHBETUS Ao LHORRA
3.0 016 |[|Re|&EE-<TUTIL | 2|rEst@RoEREEIRE |2.4|FMEmRIZET 2091 I LHOERA
3.0 0.04 |wre|&EE-<FUTIL | 2|EBEREEOERBEIR |2.5aTanmmnsEmsnAH
5.0 019 |r|&E-<FUTIL | 2|EEMEEOERELE |2.6/840BHATEER E~OREH
INET| 34 0.31
1.6 ZA47HAY)LCO2¢HHE
Qb)) XEREREMRCEHLTHS 30 | 1.00 |w|sunsims |swgmi~ons | | | |
INET[ 3.0 0.13
1.1 3 Bk R BE b it 3R 1 D HEHE D 5T 3.2 0.71
W2 TE—F7ASURX R IDHEHE
2.1 BEREOME
QAvh)  OKEERREMRICEHL TS, 1.0 049 |as|=sims@uem) | 1|£nBBORE AR
3.0 0.24 |Q3|=5EE (EhA) | 3|ttt 7 AT ~DEE|3.2| Bth B RIREBE O M L
2.0 0.27 |-ro|BhtthstIRtE 2| i IR A~ DB 22 BRBREELOHRE
INET[ 1.8 0.97
22 RBERHIH
QAN KEEBEEMRICRHL T, 40 | 1.00 |iwo|susmsismss Jmmp~org  |2fmE os~oamm | xaammnm
i RICEEAR—REHER,
INR 4.0 0.03
2.TE=FPA7U0 3R | D HEHE D FF A 1.8 0.18
W3 [REMILXERIDHE
31 TAMOmLE
(AR RERFREMRISERLTISL, 3.0 047 |o2]v—exme o| Rt - (2 A 21|85 BHM O ALY 1|mEs
3.0 0.12 |oz2[s—ERitae 2| it FA - {5 4E 1 2.1 885 - BH O AEH 2| it - BRI E
3.0 0.09 |oz2[s—E=xixae 2|t Rt - (5 4R 2.2 &8 & - WM O AESR 1| BR A D it P 4E 3
3.0 0.09 |o2|4—t=xitae 2|t F - (5 4R 1 2.2 8 & - WM O FAESK 2|sM B £ M ORISR BRI
3.0 0.04 |o2|v—E=MHE 2| At - S 8E 2.2 B0 & - ERFT OO FRAE 2L xEMEH LFHOEHLENR
3.0 0.03 |az2[s—Exixae 2|t FR - (5 4B 2.2| &R & - &4 DT FALE 3L 4| =B E A o O EH LRI
3.0 0.06 Q2| —E R 1t8E 2| M- E5EHE 2.2|ER & - ER 4 DT 3K 5|22 - {5 HEKERE D EH L EME
3.0 0.09 |[Q2|—ERMHE 2| - 1S 5E 22|53 ED4 DT A EE 5K 6| EERBEHBOFHLEMR
INET[ 3.0 0.70
32 F‘IEDEHFHM
(QAVE) XEFOFELRRISERL-BRELRLTIEN. | 30 017 [oz]sr—Extese 3|t - Ea b 33|BmEOEHH i|zmmeoEs®
3.0 0.17 |a2[s—E=xizae 3| sut st - T 33|BiEoEHH 2| KEREDELE
3.0 0.11 |a2[s—E=xizae 3| st i e - TR 33|BiE O =S | EREMRDEHE
3.0 0.11 |az2[s—Exitse 3| sut s e - I 33|BiEOEFHE 4 BERBOEHM
3.0 022 |az2[s—E=xiza: 3| sut s 1 - T 33|BiEOEHH 5|5k BB O E
3.0 022 |az2[s—Exizae 3| st e - TR 33|BiE =S 6|\ T YT RR—Z
INET] 3.0 0.30
SIRFMIEXRIDOHEDNDFH R (LEL2IEE) | 30 0.10

BEREEOKRFY(LEEEIEE)

3.0




